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If indeed it is so, what is the reason of Rabi Yosi

Overview

The X703 cited a Xn**72 in which 777 " maintains that a 772w ,n71°) and a 79w must
wait three months before they can marry a P&, while °01° "1 permits them to marry
immediately (after they were 121 97nnw1 ,7°°ann). The X3 established this npY?nn in
a case where n9y21w 7R (therefore 77 ' maintains that she has to wait three
months before she can marry). The X nx asked if indeed the Xn>72 is discussing a
case of 77y21w MR, what is the reason why 01 ' maintains that she can marry
immediately. mo01n discusses the need to establish the Xn>*12 by 77¥21w 7X1 in order
to ask on "0 .

mooin asks:
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The >'"9 is astounded, for it seems that the only reason the X7nx asks, ‘what is the

reason of °01 "7’ is because we established the Xn>°12 by 7%w21w 7I89; however -
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Without this Xn°2X you can also ask from the Xn>92 of 52y '3 which the X923

cites shortly regarding an 70152y 70NN -
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And according to the flow of the X923 it appears that this same 7wp» himself
who asks here (regarding n%v21w K1) °0 "7 0"n "X is the one who cites that
other xn>12 of nmom mouK —

moon offers a possible solution:
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However, there are texts that read, shortly; ‘>°28 said to him, granted by a

! See later on this Tmy. The case of MoM1 TONK is (virtually) the same as 77y21w 7%, and >01° "1 maintains there (as
well) that she is permitted to marry immediately; the question can be asked there, "0 17 v"1'?!
2 mpoin is preempting that we cannot say that the 7wp» who asked here 7"X, perhaps did not know the X092 of 701K;
since the flow of the X3 indicates that it is the same Wwpn who asked 17"X, who later cited the Xn»92 of 701K. The
question remains, why did the Jwp» on 01 "1 wait until we established the Xn>12 by 7%v21w MR, when there is a clear
XN>12 that *01 " is 7% RWI? Nk by an Mo 70K (which is virtually the same case as 77v21w 7%0)?! See “Thinking
it over’.
3 In our text, the words " R % "K' do not appear, therefore we assumed that the question X»%w2 and the following
discussion including citing the Xn°72 of 701K is all from the original Awpn, as MoOIN just stated (see footnote # 2)
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convert since she intends to convert etc.’
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So according to this X07% it works out well since this wpn (of 7"X) did not know

the Xn12 of 701X, which 2R cites later, for it is 3°28 who cites it (not the original
Twpn of 7"R) -
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And this is also the Xo9%3 in the end of 'R '7 poo.

Summary
We can explain why the X713 now did not ask *01° 17 v"n regarding the Xn»72 of

701R 1f we assume that it 1s 28 who cited that Xn>02.

Thinking it over

The reason the X3 established the np12mn between 01 "N 7373 ' by 77921 MR
was to avoid a contradiction in the rulings of 7717 1. The jwpn argued that this
answer is inadequate for we cannot be discussing 7%¥21w 7R because 17 v"n "R
0. The point of the s"1{wpn question was not (so much) to ask on *01° ', but rather to
discredit the answer of the 1¥n that the np17nn was by n2y21w MR, Since that is the
case, what is m»oIn asking that he should ask from 701X, when that was not his
point?!

4 According to the X073 of 121 N7 XnHWw2 »aR H"'K, it is »2x who is taking the initiative and is the Jwpn in the subsequent
discussion, including citing the Xn>>12 of 70K.
5 ®,17% min. There it is *28 who asks N7 Xn9wa and it is IR who answers NI97NM 71 TWR.
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